Missing Digits

Name: Score:

Fill in the the missing digits.

()= 70 =2 100 = () = 10
180 + (] =6 ()] =8 =4
() =20 =6 240 = (] =4
400 + [ ] =5 (=70 =4
() =60 =5 270 = (] =3
360 = () = 4 (] =7 =6
()~ 2 =38 s40 = () = 6
480 + (] =6 () =70 =09
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Answers

Fill in the the missing digits.

(140) = 70 =2 100 = [10] = 10
180 = (30 ) =6 (320) + 80 = 4
(120) = 20 =6 240 + (60 ) = 4
400 = (80] =5 (280) + 70 = 4
(300) + 60 =5 270 + (90 ) = 3
360 = (90 ] = 4 (420) = 70 =6
(160) + 20 =8 540 = (90 ) = 6
480 + (80 ) = 6 (630) =+ 70 =9



